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Abstract When using 2D or 3D arc pop up Invalid radius error
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B Problem Description
When user use 2D or 3D Arc function, user may get an “invalid radius error”, how to solve it ?

B Problem Analysis
This issue usually happen with the coordinate of the arc that get transfer from real unit to pulse domain,
the coordinate cannot drawing a arc because of the radius is not same from start point to end point.

B Solution
To solve this issue, please increase the accuracy of the coordinate and make sure the distance of center

point to end point is same as start point to center point.
The equation as below
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